12a0437 (K12a0437)

/\/ ~ Linearized knot diagam
K \‘\H 3 6 10 8 2 1 5 12 11 4 9 7

1 ) 5 Solving Sequence
. 36 >2—>1—>7—>5—>8—>4->1 %9%11»10»03&9
A knot dlagranﬂ C2 € C C5 Cr  C4 C12 €8 Ci1 Cio

Ideals for irreducible component#ﬂ)f Xpar

I =™ —u™ 4+ fut1)

* 1 irreducible components of dim¢ = 0, with total 74 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ — 80u™ + -+ — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w439+ 4+ 3u+1
C2,C5 WP —ut1
c3,C10 W a4 fu
Cq,C7 Wt =P+ —39%u+5
Cg, C12 ut+ 3B+ +91u+ 39
cg, Cy, C11 uW—19u 4+ —3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 YTy 3yt 1
€2, Cs y74—39y73+--~—3y+1
€3, C10 y74—19y73+--~—3y+1
c4,C7 y™ 4+ 37y 4 - 2209y + 25
6, C12 y™ +53y™ + - + 25961y + 1521
€8, €9, C11 y T3y By 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.835681 4 0.5606051

—2.03574 + 3.505421

2.00000 — 4.076431

u = —0.835681 — 0.5606051

—2.03574 — 3.505421

2.00000 + 4.076431

u = 0.832665 4 0.5714631

—1.51570 — 9.581101

2.00000 + 8.956901

u= 0.832665 — 0.5714631

—1.51570 + 9.581101

2.00000 — 8.956901

u= 0.791742 4 0.5696611

5.17088 — 5.158121

8.32835 + 7.794571

u= 0.791742 — 0.5696611

5.17088 4- 5.158121

8.32835 — 7.794571

u = 1.028500 + 0.1609851 —6.85388 4- 0.054601 | —5.85707 + 0.1

u = 1.028500 — 0.1609851 —6.85388 — 0.054601 | —5.85707 + 0.1

u = —1.038800 + 0.1836431 —6.59018 + 6.051941 0

u = —1.038800 — 0.1836431 —6.59018 — 6.051941 0

u = —0.771164 + 0.5380071 2.30346 + 2.174391 2.29501 — 3.844131
u = —0.771164 — 0.5380071 2.30346 — 2.174391 2.29501 + 3.844131
u = 0.745955 4 0.5712891 5.30206 + 0.621271 9.02433 — 0.608641
U 0.745955 — 0.5712891 5.30206 — 0.621271 9.02433 4 0.608641
u = —0.878223 + 0.2867811 —0.13660 + 3.042101 1.28348 — 9.038871
u = —0.878223 — 0.2867811 —0.13660 — 3.042101 1.28348 + 9.038871
u = 0.694463 + 0.5815561 —1.12248 4 5.010711 3.66328 — 2.357091
u = 0.694463 — 0.5815561 —1.12248 — 5.010711 3.66328 + 2.357091
u = —0.685413 4 0.5671311 —1.61031 + 0.993471 2.79378 — 2.749421
u = —0.685413 — 0.5671311 —1.61031 — 0.993471 2.79378 + 2.749421
u = 0.847866 + 0.0887421 —1.39303 — 0.273311 —6.60583 + 0.304911

0.847866 — 0.0887421

&
-~
I

—1.39303 + 0.273311

—6.60583 — 0.304911

0.173274 + 0.7985871

S
|

—4.67079 + 10.470001

0.63032 — 6.915451

0.173274 — 0.7985871

S

—4.67079 — 10.470001

0.63032 4 6.915451

u = —1.125660 + 0.3660501

—0.67532 + 2.896351

0

u = —1.125660 — 0.3660501

—0.67532 — 2.896351

0

u = —0.166312 4 0.7958571

—5.18741 — 4.273771

—0.40124 + 2.074611

u = —0.166312 — 0.7958571

—5.18741 + 4.273771

—0.40124 — 2.074611

uw=0.188589 + 0.7690661

2.46946 + 6.126261

6.02496 — 6.717471

u = 0.188589 — 0.7690661

2.46946 — 6.126261

6.02496 + 6.717471




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.110190 + 0.4787291 —5.42714 + 6.463281 0
u = —1.110190 — 0.4787291 —5.42714 — 6.463281 0
u = —0.005571 + 0.7864671 —9.15015 — 3.137231 | —3.27787 + 2.629811
u = —0.005571 — 0.7864671 —9.15015 4 3.137231 | —3.27787 — 2.629811
u = —1.174870 4 0.3519361 —1.57203 — 2.511391 0
u = —1.174870 — 0.3519361 —1.57203 4 2.511391 0
uw = 1.120020 + 0.4997461 —5.15715 — 0.755161 0
u = 1.120020 — 0.4997461 —5.15715 4 0.755161 0
u= 1.169010 + 0.3761701 —3.98603 — 0.846441 0
u= 1.169010 — 0.3761701 —3.98603 + 0.846441 0
u = —0.166580 + 0.7451501 —0.14116 — 2.829821 | —0.06496 + 2.643451
u = —0.166580 — 0.7451501 —0.14116 4 2.829821 | —0.06496 — 2.643451
uw= 1.169510 + 0.4259721 —5.43464 — 2.143381 0
u= 1.169510 — 0.4259721 —5.43464 4 2.143381 0
uw=0.210100 + 0.7239821 3.11981 4 0.439391 8.03831 4 0.996781
v = 0.210100 — 0.7239821 3.11981 — 0.439391 8.03831 — 0.996781
u = —1.201560 + 0.3552291 —8.81870 — 6.668351 0
u = —1.201560 — 0.3552291 —8.81870 4 6.668351 0
u = 1.201080 + 0.3606361 —9.29736 + 0.447131 0
u = 1.201080 — 0.3606361 —9.29736 — 0.447131 0
u = —1.165630 + 0.4674821 —5.13613 4 6.190771 0
u = —1.165630 — 0.4674821 —5.13613 — 6.190771 0
uw= 1.153100 + 0.5135571 0.38073 — 5.114431 0
u= 1.153100 — 0.5135571 0.38073 4 5.114431 0
u = —1.168850 + 0.5087041 —3.05084 4 7.519311 0
u = —1.168850 — 0.5087041 —3.05084 — 7.519311 0
u= 1.170470 + 0.5202881 —0.40431 — 10.928701 0
u= 1.170470 — 0.5202881 —0.40431 4 10.928701 0

S
\

0.275029 + 0.6630641

—2.70930 — 3.729381

2.81438 + 3.003731

u =

0.275029 — 0.6630641

—2.70930 4+ 3.729381

2.81438 — 3.003731




—0.281349 + 0.6279671

—3.03701 — 2.149471

2.22194 4 2.487411

= —0.281349 — 0.6279671

—3.03701 4 2.149471

2.22194 — 2.487411

—0.440598 + 0.2997531

1.125240 — 0.1129621

9.20316 + 0.379241

= —0.440598 — 0.2997531

1.125240 + 0.1129621

Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = 1.204050 + 0.4480561 —12.69820 — 1.269031 0
u = 1.204050 — 0.4480561 —12.69820 + 1.269031 0
u = —1.203510 4 0.4530571 —12.6628 4 7.57671 0
u = —1.203510 — 0.4530571 —12.6628 — 7.57671 0
u = —1.184440 + 0.51971171 —8.18403 4 9.131951 0
u = —1.184440 — 0.51971171 —8.18403 — 9.131957 0
u = —0.054792 + 0.7040441 —2.00051 — 1.868057 | —1.34178 + 4.379571
u = —0.054792 — 0.7040441 —2.00051 4 1.86805 | —1.34178 — 4.379571
u= 1.183790 + 0.5227611 —7.6480 — 15.35061 0
u = 1.183790 — 0.5227611 —7.6480 + 15.35061 0
u
u
u
u

9.20316 — 0.379241




II. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 u™ +39u™ 4 4+ 3u+ 1
C2,C5 WP w41
€3, C10 W a4t
C4,C7 u™ —Tu 4 —39u+5
C6, C12 W4+ 3u 4+ 91w+ 39
cg, Cg, C11 ut =190+ —3u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 YTy 3y 41
C2,Cs y™t -39y + .. —3y+1
€3, €10 y =19y =3y 1
4, C7 y™ +37y™ + - + 2209y + 25
Cé,C12 Y™+ 53y + - 425961y + 1521
8, C9, C11 y T3y 5y 1




